HSSSC Workshop Machinary Operator 1_2020 Cat 23 (18.8.2031)

Paper
1. Inthe Mughal Administration &

isa - |

(A)Finance Minister

(B)Revenue Collector

(C) Treasurer
(D){Prime Minister

2. ThéTorming of bevel or groove by material
removal is known as
(A) Backing

(C) Gouging
3. Where is Marble found in Haryana ?

(A) Mahendragarh (B) Gurugram
(C) Karnal (D) Rewari

mil-guzar

(B) Backfire
(D) Weld crack

4. Immanue] Kant is a
(A) German Philosopher
(B) Italian Writer
(C) English Writer
(D) Greek Philosopher

5. What is the brazing temperature for
magnesium ? '
(A) 620 to 760°C  (B) 605 to 625°C
(C) 600 to 620°C (D) 1065 to 1205°C
6. Name the highest Sports Award given’
Haryana Government,
(A) Eklavya Award
(B) Guru Vashisht Award
(C) Vikramaditya Award
(D) Bhim Award
7. Oxygen to acetylene ratio in case of
neutral flame is
(A) 0.8:1
C)1.2:1

B) 1:1
D) 2:1

8 A rectangular coil of COpper wires is
rotated in a magnetic field. The direction
ti;:::c induced current changes once in
(A) Two revolutions
(B) One revolution
(C) Half revolution

ne-fourgh revolution
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11.

12.

13.

14.

Which of the following welding processes
uses non-consumable electrode ?

(A) Laser welding
(B) MIG welding
(C) TIG welding
(D) Plasma welding

Raja Nahar Singh was the last ruler of
which district of Haryana ?

(A) Hisar (B) Ballabhgarh
(C) Ambala (D) Mahendragarh

The surface crack in the weldment of
non-magnetic alloys can be inspected by

(A) X-ray testing

(B) Ultrasonic testing

(C) Dyve penetrant testing

(D) Magna flux method

My mother is twice as old as [ am today
and my father is 10 vears older than my
mother. My maternal grandfather who is

thrice as old as 1 am is 75 years. What is |.

the difference in age between father and
grandfather ?

(A) 15 years (B) 20 years

(C) 10 years (D) 12 years

In oxyacetylene welding, 2 large steel
eylinders containing oxygen and dissolved
acetylene is painted with

colors respectively.

(A) Black and green

(B) Black and marocon

(C) Black and blue

(D) None of these

Which among the following is the very
famous solo theatrical piece of Manish
Joshs Bismal 7

(A) Kahan Rangmanch Ki

(B) Kaham Rangmahal Ki

(C) Kahan Rangkarmi Ki

(D) Kahani Rangrez Ki
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‘Akbarnama’ was translated into

English by .
(A) Henry Beveridge (B) Al-Biruni
(C) Robert Sewell (D) Abul Fazl

Laser welding can weld at a ratio
(A) 200 to 1 (B) 100to 1
(C) 250 t0 0,5 (D) 150 to 2

The Indira Gandhi Super Thermal Power
Project is located in district of
Haryana

(A) Kakroi (B) Jhajjar
(C) Yamunanagar (D) Khedar

was developed to enable
recording, rewriting and playback of
high-definition video (HD), as well as
storing large amounts of data.

(A) DVD-R (B) Blue Ray Disk
(C) DVD-ROM (D) None of these

A resistance welding method in which

amount of electricity ig stored up iy
Capacitors and then the same is releage

rapidly through the electrodes and me 4
Pieces 1o be joined i
(A) Metal foi] welding
(B) Spike welding

(C) Metal fibyre welding

(D) Percussion welding

Thi.samyaenerﬂwho hailed H
rorved as the 230 Cbiefommf:? Staff of the
(A) Naik Harj Singh

(B) Nirmal Chander Vij

(C) Dalbir Singh Suhag

(D) None of the above

Which of he followmg can't
robabil; o th
Expe:imlnl:z:f?d an event of g random

2
(A) 3 (B) -15
©) 15%
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locations ?
(A) Tajewala

(B) Hathn;
(©) Kalesar foriet o 0 Mo

(D) Chﬂl’l‘lpaaar

In straight polarity welding

(A) Electljode holder is connected to the
negative and work to positive

(B) Work is negative and holder is
earthed

(C) Work is positive and work is
earthed

(D) Holder is positive and work is earthed

HBO, —4X—4,B0,; Xis

(A) H,BO A (B) HBO,
(C) H,BO, (D) HBO,
In thermit welding, i powder

1s used to ignite the thermit mixture.
(A) Borax

(B) Potash

(C) Calcium carbonate

(D) Barium peroxide

This district of Haryana was called as
‘Irdar’ in ancient times

(A) Rohtak (B) Rewari

(C) Fatehabad (D) Kaithal

IfmnA:%.tanh % then tan (A + B) =

b
(A) r (B) o

1
(©).1 @™ 3

This flower has the largest area under
cultivation in Haryana

(A) Rose (B) Marigold

(C) Gladiolus (D) Lily
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24. HBO, <4 ,X—2,80,;x?t

(A) H,BO, (B) HBO,
(CY'H,BO, (D) HBO,
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: i al relationship to
9. Beryllium shows diagon: .y
: (A;y(}alium (B) Aluminium

(C) Indium (D) Magnesium

flame

Cast iron is best wcld_ed by
of oxyacetylene welding.

(A) Neutral (B) Carburizing
(C) Oxidizing (D) None of these

30.

is known as “Mini Cuba” in
India due to the large number of boxers
who hail from the region. _ .
(A) Palwal (B) Bhiwani
(C) Ambala (D) Karnal

The book “Citizenship and Social Class’
is written by

(A) T. H. Green
(C) Alfred Marshall (D) J. S. Mill

31.

32

33. A type of welding development that
quickly and efficiently welds fastening
devices to plates and other surfaces
without drilling holes is known as

(A) Spot welding

(B) Explosive welding

(B) T. H. Marshall |

(C) Friction welding
(D) Stud welding

34. hlndeaseofLiving Index is released by

(A) Ministry of Housing and Urba
Affairs 5

(B) Ministry of Rural Development
(C) Ministry of Home Affajrg
(D) None of the above

35. ABCDEFGHIJKL

TUVWXYZ

Which letter in this series which is the
10* letter to the left of the Jagt but one
letter of the alphabet 2

o D) N

MNOPQRS
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42,

Forge welding is peg
(A) Wrought irop
(B) Stainless stee]
(C) High carbon stee]
(D) Cast iron

Who among the followi

g tl ng was the first
woman politician of Haryana who served
as a Governor of g State ?

(g; (S_Jl})lanno Devi_ (B) Chandrakala
( andrawati (D) Renuka Bishnoi

In a certain code language, if
CABINET = 70 and BEAUTY = 60, then
PRODUCTION =2

(A) 110
(C) 90

(B) 120
(D) 100

The temperature of plasma torch is of
order

(A) 20000° to 34000° K
(B) 10000° to 14000° K
(C) 15000° to 28000° K
(D) 25000° to 44000° K-

This dance form of Haryana is conducted
in the form of questions and answers.

(A) Phag (B) Dhamal
(C) Loor (D) Jhumar

computers are large and very
powerful computers with very high
memory capacity.
(A) Super
(C) Mini

(B) Micro
(D) Main frame

A welding technique to build up wear
points on machinery, tools and shafts is
known as

(A) Diffusion welding

(B) Metal transfer

(C) Surfacing

) Haidfacing
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44.

47.

48,

. . e f
Match the following u_mvermtlea 0
Harvana with their location.

University Location
a. Chaudhary Devilal I{Flhtak
b. Guru Jambeshwar 2, Sl}'aa
¢. Maharshi Dayanand 3. Hisar

d. Maharshi Markandeshwar 4. Ambala
Codes :

a'b ¢ d
(A) 4 1 3 2
B 4 8 1 3
© 2 1 38 4
™ 2 3 1 4

As the CPU is located on a small chip, it
is also called the

(A) Vacuum Tubes

(B) Microprocessor

(C) Integrated Circuits
(D) Transistors

Undercuts in weldments are caused due to
(A) Low welding current

(B) Excessive welding current

(C) Wrong flux

(D) Wrong selection of electrode

The language which was made leading

language of Mughal Court by Akbar
(A) Hindi

) Hind, (B) Urdu
(C) English (D) Persian
In arc welding arc is cre

ated bet
electrode and work by R

(A) Flow of current
(B) Voltage

(C) Materia) churacu,-rintics
(D) Contacy resistance

cntablmh hor 7107 WA a ng
(A) Mahatma Gandhij

(B) Jaya Prakasgh Narayan

(C) Babasahep Ambedkar

(D) None of the above

Wspaper
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I 49. The commonly used flux in brazing is

49, 3f5m ¥ smdv w g Fm 8 aren e
(A) Resin (B) Borax (A) W (B) anTg
(C) Silica (D) Cellulose () faferam (D) BeE=
50. The battle of Karnal was fought between < FEATE F1 g8 __ F ¥ &z mmn |
(A) Nadir Shah and Aurangzeb (A) T2t we 3i sfrsa
(B) Nadir Shah and Mohammad Shalh /’ (B) =nfet wme 3iv wrez we
(C) Nadir Shah and Shah Alam (C) fex vme afv ymE 3rem
(D) Shah Alam and Mohammad Shah (D) e ey 3fv Aes e
51. The eye defect hypermetropia can b(@ammz‘rﬁm@qf@a’m)ﬁ
corrected using /&;mmmmmmt|
(A) Convex lens (B) Concave lens (A) 396 &9 (B) ¥ada &9
(C) Cylindrical lens (D) Plain mirror (C) ¥ @R TR (D) THad 20
52. The heat generated in resistance welding | §2. wfatg afeen i I s fFeE g &
18 given by IAe?
(A) H =I*Rt (B) H=1¥Rt (A) H =I*Rt (B) H= 1% Rt
(C) Rt1*=H (D) H=R*It (C) RtM=H (D) H=RIt
53. ‘Dahine Hath Ka Shankl’ is creation of ﬁ’ @;_i 2R3 e 1 v’ AR
(A) Bansilal ; N W e
(B) Ali Baksh B) 3 s@n
(C) Sayyed Ghulam Hussain Shah (C) ¥ e gée TR
(D) Yogeshwar Balak Ram (D) IR I T
54. IfA=1{]1, 2}is a set containin g2element§ 54, MR A=(1, 2 & q==q t | o 7
1 and 2. The number of elements in the 1“23[;\%@8&@‘1@*‘
power sct of A is wem R
(A) 2 (B) 4 (A) 2 (B) 4
(C) 8 M1 (C) 8 (D) 1
65. The material used for coating the electrode | 56, ¥aRYs ) Fifen F fore wyma vt 31 =
is called as | wFEI AR ?
(A) Slag (B) Binder (A) & (B) I¥R
(C) Deoxidizer (D) Flux (€) iz (D) T
56. The highest elevated area of Aravali hills | 56.  wfamn § :uga?ﬂ wddl ¥ a8 F 2w
in Haryana 18 —
Dhansi hills  (B) Karoh peak (A) uTH yda (B) wre firaw
(%; ﬁp:»::s;mls (D) Mewat hills (C) Rya vda (D) Wara wda

D



57.

58.

59.

60.

61,

ing is the main
.ok of the following 18 Bt

“l’:"::;t}i‘ve of Green Agrmultu;&inﬂ;’:ll

?G{'een — Ag) of Govcrpment 0 g

(A) Transforming Indian Agric e
for global envirom_nent bepfical
and the conservation of ¢rl e
biodiversity and forest lal?dscap

(B) Transforming Indian Agnculture
by utilizing modern agriculture
technologies _

(C) Transforming Indian Agncq]t:;e by
promoting organic farming 1n the
country

(D) None of the above

Soft solders usually melt below
temperature.
(A) 350°C
(C) 600°C

(B) 700°C
(D) 500°C

This city is called as nano city of Haryana
(A) Panchkula (B) Palwal
(C) Gurugram D) Jhajjar

Consider the following statements at
5G technology.

a. It is the next generation cellular
technology that will provide faster
and more reliable communication
with ultra low latency.

b. South Korea and the US have
already begun rolling out
commercial 5G services.

Choose the right option given below :
(A) Only the statement (b) is true

(B) Both the statements (a) and (b) are
true

(C) Only the statement (a) is true
(D) Both (a) and (b) are false

Acetylene gas is generated from
(A) Carbon

(B) Calcium chloride
(C) Water and calcium carbide
(D) Calcium carbonate

-10-
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67.

when will Sunday be ?
(A) Today

(B) Two days after today
(C) Tomorrow

(D) Day after tomorrow

was “urm,

Soft solder essenti

(A) Tin silver bmally g
(B) Tin lead base

(C) Bismuth lead base
(D) Bismuth tin base

The highest peak of Haryana is located
in this district '
(A) Panchkula
(€) Bhiwani

(B) Sirsa
(D) Palwal

In which type of welding a pool of molten
slag is used

(A) Electroslag
(C) MIG (D) TIG

Which one of the following citi . of
Haryana was under the control of last
Mughal ruler ?

(A) Shahjahanabad (B) Sonipat

(C) Haujkhas (D) Panipat

If the letters of the word ‘CARBON’ are
arranged alphabetically from left to right.
How many letters will remain at the same
position ?
(A) One
(C) Three

(B) Two
(D) Four

The main criterion for selection of
electrode diameter in arc welding is

(A) Material to be welded

(B) Type of welding processes
(C) Thickness of material

(D) Voltage used

=11-

(B) Submerged arc |
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70.

71.

72.

73.

74.

75.

This highway has the largest toll plaza
in India
(A) KMP Expressway
(B) Delhi - Gurgaon Expressway
(C) GT Road
(D) Sher Shah Suri Marg

i i f
The welding technique where the flame 0
the torch is directed away the completed
weld
(A) Overhead welding
(B) Backhand welding

(C) Forehead welding
(D) Horizontal welding

Name the fort built by Raja Gajpat Singh
in 1775.

(A) Gohana Fort  (B) Loharu Fort
(C) Jind Fort (D) Kaithal Fort

Pascaline was used to perform

(A) Addition and Multiplication

(B) Addition and Subtraction along with
carry transfer capability

(C) Addition, Subtraction, Multiplication
and Division

(D) Multiplication and Division

Plate thickness for square butt welds

may be

(A) 1.6 mm -32 mm

(B) 4.8 mm - 8.0 mm

€) 8.0 mm — 16 mm

(D) Over 16 mm

Which of the followi istricts i

N raolm ?:ad;stncta is the

22; ima . (B) Gurugram
harkhi Dadpr; (D) Hisar

(B) Presentation tools
(C) Spmadﬂhecl

(D) Word B packages

B80r
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69. !fgmmt T VRE F1 a8 921 -
(A) ¥. . fi. veadEa
(B) Reehi—enta vawgad
(©) s, . Az
(D) I vme gt ur
70. ae afeen a@e, sl 2fd ) saren 1 O
aeg B e R
(A) e Afeen
(B) ¥=ee afeen
(C) wRes afeen
(D) &fe= afeen

TN a3 1775 8 e e R
W TR |

(&) MEFLFS  (B) T e
@ (& e fen (D) ¥ foren

/vm:mm____ma;ﬁqqﬁqm
ST o |

A) ﬁgmﬂuﬂ

(B) %0 Ziawt &man & @1 Sirg 3 gerg
(C) g, wera, TN 3R Ryrer

(D) Ton 3R Ry

73. TR W T F u e HN
aFd ? Wen)

(A) 1.6 fdft - 3.2 finht
(B) 4.8 fanft — 8.0 fiyrfd
(C) 8.0 firdft - 16 firsft
(D) 16 finft & sifers

74. PafafEadaah- whemm N
(A) e (B) Ty
(C) I Tred (D) feam

8. T W3 TN (g
|iRaat @ St w321 A wnviag
3w 0 2 | R
(A) Ffronug

R
(©) e

(D) a2 wrEEt i. -



76.

7.

78.

79.

80.

81.

82.
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In thermit welding the jpop oxid ftfz afegn d st stieame v e
aluminium oxide : de and |  76. 5 :
el g are mixed in the HATearse i fovm a3 fireman s @ 7
A)1:1 B) 3:1 A 1:1 B)3:1
©) 1:3 (D) None of the above (C)1:3 (D) IR H Y ﬂ'ﬁ Er
Basai wetland is located in which distriet | 77. =umd Iy gfamn & fra et
of Haryana ? Rt ?
(&) Jhajjar (B) Gurugram (A) A5 (B) TEm™
(C) Kurukshetra (D) Faridabad (C) Fo&a (D) HRER
In Dumas method, the nitrogen containing | 78, e it 3, Freer T ek A A1
organic compound, when heated with = C()z%: raTE § % gry
in an atmosphere of CO, yields o ST 8, 1 aE e A TR |
free nitrogen. (B) NaSCN
(A) AgO (B) NaSCN (Ay AgO
(C) CuO (D) Na,PO, (Cf CuO (D) Na,PO,
Automatic wire mesh welder is capable of @ e aEg 7y avgl, MU CE—
making a wire mesh width upto - et a6 61 e F T AT A |
meters. qaq R y
(A) 2.5 (B) 4 A) 2.6 g; M
© 3 D) 4.5 ) 3 '
FE
A box contains 3 blue, 2 white and dred 50, Hw A 3 Heh, 2$§m4$
marbles. If a marble is drawn at t:and_qr af aefers w9 @ % ﬁﬂt—ﬂ?
from the box, what is the probability tt ST 2, A 1 i %, o o= athe Bnft 7
it will be white in colour ? 9 1
2 ®) 1 W 3 ®) 3
(A) 9 8
7
© 1 (D) None of these (C) = (D) ¥ ¥ F1 7
9
— - arht At ¥ for s
S ma ot welliag \Bd Fa JoR B0 '91 %?ﬁ@é?% F_ FEEIE
thin strip material is known as = —_—
(A) Diffusion welding (A) ggzl'gqﬁéql:l alvg.l
(B) Indent lap welding (B) afeen .
; - (C) TEiia Sfeen
(C) Explosive welding oz A
(D) Thermit welding (D) afeem
o s o v =afa 3w
The court verdict declaring that a person | 82. Wﬁm 2, Forga T AT
is not guilty of the crime which he/she was %‘q“qm N FEARTR |
tried for by the court is called as 9 ? B
A) Writ : A fe (B)
(A) Wri (B) Acquittal D) o
(C) Habeas Corpus (D) Appeal (C) Bfemw P D
18- g



English a
Add suitable question tag to the following
statement.

All the children went to bed at 9 p.m.,
2

(A) were there
(B) could they
(C) did they

(D) didn’t they

Fill in the blank using appropriate forms
of the word given in bracket from the
alternatives given below them.

It brings each other to (destroy).
(A) destruction

(B) destructive

(C) destruct

(D) destroy

In the following question, out of the given
group of words, choose the mis-spelt
one.

(A) Familiar
(B) Simmer

(C) Hammer
(D) Grammer

The question consists of an expression,
followed by four possible alternatives.
Selu't.t.he one which gives the most correct
meaning of the given expression.

To smell a rat
(A) tobein a rotten mood

(B) to suspect foy) dealings
(C) a bad smell

(%

(D) first signs of a plague epidemic
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ﬂﬁm

(&), e # wfa e 1 vivn w0 5 o

o wyEmwEa
(A) FIE

(B) 3EHR *

(©) famrth

(D) ¥ & Frf e

‘g’ wee = wifem €9 L 4
(A) ARgeTdt
(B) Tyt

(C) st
(D) ¥ & i 7

@ T T R W 3 Ly

(A) TR A
(B) WIFT S

(C) BR UM o1
(D) T8 A F1E 7

TR A T IR, 78 a3 fry
FHR?

(A) Fq
(B) %4

(C) v&

(D) T @ #rd 7
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